
Time: 10 Minutes Paper Science 8 Total Marks: 10

1st Month, 4th Week, 5th Day Syllabus: Unit # 2, Exercise

Q.No.1 Encircle the correct answer from the following choices. (0.563)


i. The neurons which decide about the action for certain stimulus:

 


(a) Sensory neurons  (b) Motor neurons 
(c) Inter neurons  (d) All of these 
ii. The parts of a neuron which receive messages are:


(a) Cell bodies  (b) Dendrites  (c) Axons  (d) Nuclei 
iii. Heartbeat is controlled by: 
(a) Cerebrum  (b) Cerebellum  

(c) Hypothalamus  (d) Medula oblongata  





iv. Many axons present side by side and enclosed in a common sheath from:






(a) Nerve cell  (b) Nerve  (c) Dendrites  (d) Spinal cord 
v. Sensory neurons carry messages towards:


(a) Muscles  (b) Glands 
(c) Sense organs 


 (d) Brain and spinal cord 

vi. Which part of brain is involved in precise and accurate body movements?


(a) Cerebellum   (b) Cerebrum 
(c) Thalamus  (d) Midbrain 
Q.No.2. Write short answers. (224) 
(i) Write down the functions of midbrain and spinal cord.


(ii) Differentiate between neuron and nerve. 
Q.No.3. Write long answer. (3) 
(i)Write a note on central nervous system. 
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